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CHM151 Quiz 4a 25 Pts Spring 2010 Name: }(éj/
SHOW ALLWLL WORK TO CREDIT

MOLAR MASSES: Na 22.99, S 32.07, O 16.00

1. (5 Pts) How many grams of Na,SO; are needed to prepare 500 mL of 0.150 M
Na,;SO4 solution? —
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2. (8 Pts) In a titration, it took 29.35 mL of KOH solution to neutralize 0.2024 g of
H,C,@,2H,0 (molar mass 126.07). Determine the molarity of the KOH solution.
OX
2KOH + H,C/@2H,0 — K,CH; + 4H,0
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3. (4 Pts) How many mL of 4.00 M HCI solution are needed to prepare 600 mL of 0.150
M HCI solution?
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4. (8 Pts) Complete and balance the following reactions:

a) X N HAsO, + 3 3 BaOH, —» 6 HQ/O + Bag (/‘RO‘/ 2
b)  HS0, + <KOH — 2L HO + K& gOy




CHM151 Quiz 4b 25 Pts Spring 2010 Name:
SHOW ALLWLL WORK TO CREDITY

MOLAR MASSES: Na 22.99, S32.07, O 16.00

1. (5 Pts) How many grams of Na,SO, are needed to prepare 500 mL of 0.190 M
Na,SO4 solution?
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2. (8 Pts) In a titration, it took 39.35 mL of KOH solution to neutralize 0.2024 g of
H,C,8,-2H,0 (molar mass 126.07). Determine the molarity of the KOH solution.

%
2KOH + H,C#42H,0 — K,CHy + 4H,0
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3. (4 Pts) How many mL of 6.00 M HCl solution are needed to prepare 600 mL of 0.150

M HCI solution?
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4. (8 Pts) Complete and balance the following reactions:

) o HAso + 2 BaOHp —» & M0 * ba, @SO")L

b) _ HS0; + X NaOH — A H, ¢ + A’/"l SO'?’



